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3, 006, 300

2, 733, 000

273,300
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2,733,000

2 2, 733, 000
3 1, 750, 000
4 1, 723, 000
5 1. 000 1, 650, 000
6 1. 000 73, 000
7 27,000
8 1. 000 0
9 1. 000 0
10 1. 000 0
11 0
12
(5) x

1, 650, 000x 0. 000 0. 000 0
13 1. 000 0
14 1. 000 0
15 1. 000 15, 000

16
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(4) x

1, 723, 000x 0. 700 0. 700 12, 000
17 1. 000 0
18 1. 000 0
19
(3) %
1, 750, 000x 56. 200 56. 200 983, 000
20 1. 000 0
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1, 650, 000

1. 000 1, 650, 000

1.000 1,473, 165

BVR3-1 L=28mBVR3-2 L=32m BVR3-3 L=42m 1. 000 184, 248 184, 248
1 2 3 x6 18. 000 4,418 79, 524 4
18. 000 5,818 104, 724 5

184, 248

BVR3-1 L=28mBVR3-2 L=32m BVR3-3 L=42m 1. 000 996, 987 996, 987
( ) 3. 000 110, 737 332,211 15
0 30m 6. 000 22,521 135, 126 6
0 50m 12. 000 22,941 275, 292 7
( ) 18. 000 8, 881 159, 858 16
( ) 3.000 31, 500 94, 500 17

996, 987

30 1. 000 291, 930 291, 930
1. 000 54, 936 54. 936 3
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6. 000 39, 499 236, 994 2
291, 930

1. 000 177,800

1. 000 177, 800 177, 800

1. 000 60, 900 60, 900 12

1. 000 56, 000 56, 000 13

1. 000 60, 900 60, 900 14

177,800
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73,000

1. 000 73, 000
1. 000 73, 000
1. 000 73, 000 73, 000
1. 000 73, 000 73, 000 1

73,000
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15, 000

1. 000 15, 000
1. 000 15, 330
1. 000 15, 330 15, 330
7.000 2,190 15, 330

15, 330




